HAREMNS (B E) Gzsm)
(A1) .60 54 #5100 5)

—JEEH(HZ 15,417 %)
L. B 53 + 48 By — (i, O B okn] DU ( ),
FES3 +48 (g A%, O B e/l DUSE( ) o
2.2FF=( ) Z Tt 2500 ZFt = ( ) FH( ) Z Tt
3076 15 B2 120 Ji 90 & 89 J& 91 & (175 &+, ( ) 2B, ( ) A
4. 2z P i g m ( ) AR HZ, 25 — s RE I ( ) ARHEL

2

5. B 21 =35 W22 = ()0 320 )

6.9 BHHE ST 1AM BT RIBFEM A0SR M2 () 56 IS ST 14061 R 3 9 1
RO M

7. HOKIT 3 AR T 231 WOKIE, TE A ORI ) i, BRI
e 264 KRB )R,

8. FHPIHAN[A] (% = A ROAT LLF 3 U B0 £, 140 :90° + 60° = 150°,60° +45° =
105°, JRRET P BEI 7 ( IO
= i BEWHEROBTRERSE (2 4,24 10 5)

LB AR B A R ).

]

A. HAVAT B. HAHEEH C. HMES
2. —EBRIEE A REOR 35, B ABREL( ) o
A. KF 35 B. 47 35 C./NF 35
3. MBS AT 1 AEE AR 10 Brag 3 ok [l — B, 24T ( )4
A9 4 B.10 4 C.11 4
4. — &I ( ) o
A.250 7 B.250 Z£ 7}
5. 30 BERYAILE S RS R 32 ( ) o
A. B B. i ffi C. Hff

= KBS (SHEES RV BRI X ) (542 5, % 12 %)
L —4HEZK 6 JEK, Bi—F0E 3 BEXK,
2. AHHZE I 4% HE— & HAHFAT o
3. bk 90 BERHY A B A
4. =AEER VAP, A — S — i 8
5.480 + (4 x6) =480 +4 6,
6. WRBEREHI R EA O, K BB —EH 0.,

e N N N N N
~— O~ ~— ~— ~— ~—



M (29 )
LEBS ISR, (1 S, 210 4)

150 +30 = 57+19 = 148 +134= 39x10= 36 +24 +4 =
760 280 = 640 +40 = 18 x30 = 750 + 15 = 61 -63 +21 =
2. HSGTR . G wo RS ) (AT AR 2 &, 5 243 o, 35T )

481 +13 3150 +70 %782 17

3. WA, (43 40,3612 4)
14 X (6 +50) (58+89) (13-10) 96 +(12x8) 40 -25 x9 +3

E\@_iﬁiy%_%yg_g(&%ﬁ“‘ /71\7;:,;‘ 12 67\)
L. NIHA ABC =53, 4 AB W 55— 55 4 B, B i C i B SRR B IR B R &Y
e/ DK,

LA

Be °A

2.8 —4, £1=( )°,2£2=( )¢, 21 JE( M, 22 7 ).

3. LA A fOR T — > 60° Y £



KA MR, W
B SRR o

2. ZE W R BN AR 14 534l AR R ) e B8 A B /DA B g LA
x
910k

7>

PAEE

3. AR SRS T4 2 A BRI T 182 Kk
(D) FRERAKIRZ D47

(2) BEGXRETT A BT RIHSE#E
KR ) EL KL 234 598
TR T A R AL 45

4. SN ST 2 K 400 KA ERIL BRI, L 258 M T 130 BT 9 BEAE 30
RIS PR REISZ 0K



